1=
i)
ot

ngo] Ee9] Zolg FokAlL.

i
)
=

.l

>
D> %

i

100.48 cm

0.

(2 29 9F) + (F=2 99 4F)
24 x3.14 4+ 8% 3.14 = 75.36 + 25.12
= 100.48( cm)




BT Rie] Yol & Fatofet,

-90em-7”
@ 94.2cm? @ 125.6cm? @157cm2
@ 188.4cm? ® 314cm?

CELEREREE)
=(#1:50] 20emd A2 Wol)x ;- (AF0] 20eme) 22 4

O])x_

:20><20><3.14><}1—10><10x3.14><%

= 314 - 157
= 157(cm?)




2 U7

~--2512cm-- "

~
~

16 cm

> He

‘ 25.12x 2+ 3.14 = 16( cm)




4. =99 Zol7t 94.2cmel L] Hole dutdyzt?

no

=i cm

>
> = 706.5cm?

o] Bkz]E9] o] : 94.2 +3.14 + 2 = 15(cm)
o] go] & 15x 15 x 3.14 = 706.5( cm?)




5.t A el 8sem? Jueh [ [oke] Bojz dte 2

JE2AQ,

o1z ou @u @9 ® 8

B \
KA 52] 2015 acmet 519
AXAX3.14 =785
AXA=T785+3.14
AXA =25
A =5(cm)

(A59] Zol)=5x2=10(cm)




[e)
549 A8 R emu7h?

eHHH] 23t A=
32.97 = 5 = 6.594(cm) °| B2
S49] A =2L 6.594 + 3.14 = 2.1(em) YUYtk




9] AF-g FohA 2.

L

>
[> ®EH: 50.24cm

(45)=(A&)x3.14
16 x 3.14 = 50.24( cm)




57 50] 75emel o] SlS 7.85cm¥ o] 1hiro} 4
e, of® grrzgo] HAEU7E

® AN @ Ho7t3g ©FERL
@ w7y ® A4l

B \
Ao] Ee9] Zol

7.5%x2x3.14 = 47.1(cm) ©] 2L
471+ 785 =602

29| EAS 6 SEF Y2 ole

rg
o
Ho
L
ofl
0
i)
i
)




9. o HolE FoHAL.

>
> HEH 254.34cm?

0

(28] Wol)=(FA2)x (HA8)x3.14
9x 9 x3.14 = 254.34 cm?




